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1 = goo E 900,000
2 = goo E 500,000
3 ("] g E 350,000
T4 = goo E 202,500
T4 = goo E 202,500
T6 = goo E 152,500
T6 = goo E 152,500
8 ("] goo E 117,000
9 ("] goo E 105,000
T10 = goo E 92,000
T10 = goo E 92,000
T12 = goo E 73,250
T12 = goo E 73,250
T14 = oo E 58,000
T14 = ooo E 58,000
T16 = goo E 50,833
T16 = gogo E 50,833
T16 = goo E 50,833
T16 = goo E 50,833
T16 = goo E 50,833
21 = goo E 44,000
T22 = goo E 41,250
T22 = goo E 41,250
T24 = ooo E 39,500
T24 = ooo E 39,500
T26 = ooo E 35,714
T26 = ooo E 35,714
T26 = ooo E 35,714
T26 = ooo E 35,714
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